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Instructions for Candidates :

1.
2.

This exam is in two parts.

Part - Lis related to Mental Ability Test which consists
of 100 questions.

Part - II relates to Scholastic Aptitude Test which con-
sists of 100 questions relating to three subjects listed
below :

(i) Science

(i) Mathematics

(iii) Social Studies

Each question carries one mark. All questions are com-

pulsory.

You have been provided with an answer sheet (OMR)
for this question paper. Darken the correct option of
each question in the answer sheet (OMR) with black/
blue ball pen.

Rough work may be done on the blank space prov1ded
for this purpose.

There is no negative marking in the test

Do not use white fluid on OMR (Answer Sheet)

Half an hour extra should be given to Visually -

handicapped candidates only.

Max. Marks : 200
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Mental Ability o HT&TRE: darsT

Directions: (1-8) - There is a number series following f53€H : (1-8) f¢at aret et ©t Bt @ W
a pattern. One place isleft blank. Find the correct »muw f&¥ fan 395t &5 vrsrfus' 5| H"‘&’f gt

answer from given options: . wEtratgsTdtSTad-
1. 65,64,60,51,35, el 1. 65,64,60,51,35,.........
@ 15 @10 : oM 15 @ 10
(3 20 @2 B ) B | A C) B~
2. 5,16,51,158, B o 2. 5,16,51,158, s,
6)) 474 (478 nHn 414 @@ 448
@ 8 @4 @ s @ s
3. 2,1,4,3,6,5,8, _ ‘ 3. 2,1,4,3,6,5,8, ccceurrnnene o
M 9 o m oo @
® 7 @n ® 7 @
4 121037101, T 4. 1,2,10,37,10L, .o
G 26 (9229 @ = ¢ =
s 2.6,30,60, 130, : 5. 2,6,30,60,130, s
— %) 2
(1) 180 (2) 200 180 @ 200
® 20 230 (3) 210 @ 230
6. 28,34, 35,37, 41, 6. 28, 34, 35,37, 41, ...cccuune.
M 46 (2)49 | M 4 @ %
G 4 (4) 44 @ 4« @ 4
7. 410,28, 244,730 7 410,28, e ,244,730
(1 88 (2)90 1 88 @ %
3 82 @78 3 8 @ 8

8~ 2a3:597’ 11’—— 8. 2,335979 11’__

a1 )14 o 1 o

3 16 4)13 | @ 16 @) 13
Directions (9-11) - The letters follow a definite fsaew : (9-11) f&3 are »yg f¥a ferfes gu
pattern. Find the missing letters to complete the 34T »gwTg I5 | fest gu ur § Yo~ 9% ser

pattern. Aat feasy &t g 79|

9. aa ba bb_ab_aab | 9. _aa_ba bb_ab_aab
1) aaabb 2) babab 1) aaabb 2) babab
3) bbaab 4) baabb 3) bbaab 4) baabb



114 3 2 5 1

102 5
(1) 354321 (2) 123452
- (3) 345234 (4) 542341
11.c_bba_cab_ac_ab ac
(1) bebac (2) cabeb
(3) accbe (4) acbed
12.1f PAINT =74128, EXCEL =93596 then ACCEPT=?
(1) 455978 (2) 459578
(3) 457958 (4) 459758

13.1f HANDWASH =225, SANETIZER=81 then
VITAMINCD =?

(1) 196 (2)256
3) 324 (4) 169
14. A boy who was born on 29" February1896, when did
he celebrated his first birthday?
(1) 29" February 1897
(2) 29" February 1900
(3) 29® February 1904
(4) 29" February 1908
15. What was the day of week on 9% October 19442
(1) Friday (2) Sunday
(3) Tuesday (4) Monday

Direction: Using the relation between the items
which of the follewing is most suitable diagram
(16-18)

e (© 0
O
(1) (2) ) (4)

16. Flowers , Clothes , Red

17. Mountains , Sea , Island

18. Earth, Forest, Mountain

Directions: (19-22) — Developing relationship among
items on the left side of sign :: find relationship

on the right side of : by choosing from given
options

19. Contamination : food : : infection :?
(1) Germs (2) Disease
(3) Body (4) Microbes

10.2 5 114 3_2 5.1
(1) 354321 (2) 123452
(3) 345234 (4)542341
11. ¢_bba_cab_ac_ab ac"
(1) bebac (2) cabcb
(3) accbe (4) acbed ‘
12. if PAINT =74128, EXCEL =93596 then ACCEPT=2
(1) 455978 (2)459578
(3)457958 (4)459758

13. If HANDWASH =225, SANETIZER=81 then
VITAMINCD =?

(1) 196
(3)324

(2) 256
@) 169

14. & s3am 29 Taedt 1896 § Uer Sfomr wt
On3 mrueT ufasT Aafes aa HaTfewr w7
(1) 29 e3=dt 1897 |
(2) 29 &I=Et 1900
(3) 29 T3=dt 1904
(4) 29 ggd=dt 1908

15. 9 WoFH 1944 § Te3 w faga fos A 7
() Hag=w 2 Hs=w
() HIBETT (4 FHES
fooen . sagwt few Afa mofug aoa &7 fa
YEs (16-18) 9 fammer ga=t fige fagsr

09w aDOe

(1) (2)
16. €&, dud, BF

17. W3, Al<Y, Y

18. Udst, FOw, Ws
ﬁﬁ@'ﬂ:(l9—22)ﬁ’§'mﬁ?::@'ﬁ'ﬁ'uﬁ
Tt THYwt &9 F&T mefuz o9a faus: &
HH U T8t @Agwt f&9 @ 39+ e FET
AEfug 995 Bet Aat feasy ©f 9= a7 |

19. g : §7s = faoua : ?
(1) dteg )

(3) Fele 4

favrat
HUHHTE



20. Arc : Circle : : line:?

(1) Point (2) Rectangle

(3) Ellipse (4) Sphere
21.85:40::77:?7

(1 4 - (2)48

(3) 49 ()50
22.8:32::10:? ‘

(1 4 (2)50

(3) #4 ' (4) 60

Directions(23-25) — Cube of edge 12cm is pamted
on all of its faces and then divided into number of
cubes each of edge 2cm, based on this answer

the following questions :
23. How many cubes have only two faces painted?

(1) 48 (2) 56
(3) &4 _ 4 8
24. How many cubes have no face painted? -
(1) 56 (2)48
(3) 9% (4) 64
25. How many cubes have at least two faces painted?
(1) 56 (2)48
(3) 9% 464

Directions(26-30) — find the missing item that will

come in place of question mark?

84| |8 88

26.

14)12] | 18] 9 211

) 16 @ 2
(3) 24 (4)‘ 2

JOkH )

(1) 760 (2)
(3) 875 4 607

20.

21.

22.

gU:JaAg;:JUT: ?

o e , @ wfez
3) fefsum (4) IS
85:40::77:? |

n 4 o M

3 49 4 50
8:32::10:? R

1 4 2 50

(3) 4 4 60

fagen : (23-25) fEa 12 M fasd T8 we § 99
W?%maﬂ@ﬁhﬁnfeﬁaﬁzmmwm
f&g & fapur 3 | ferd wirarfaa yast & G359 fe€

23. T3 we a5 first & & urfiewt 3 ar aftgr I 31
n 8 @ 56
(3) 64 4) 8

2. &% we g5, fisT o F8 U 3 Far 59t 37
1 56 B ) '
(3) 9% 4 64

25. ﬁwwwwgﬁ%memsw
atar femm 37 , ;
1 56 2 48 -
3 9% @4 o

fsgew: (26- 30)mﬁwem@m’tfeamrre’r

Sorch

26. 84 81 88

14}12] | 18] 9 vARL

a 16 @ 2
G) 24 @4 2

(3) 875 (4)



28. 28.

11 12415 1 | 4 Jﬁ5
31?217 31?217
51%1]9 51%|9

(1) 42 2 4 1n 2 Q M
(3) 46 4 48 (3) 46 -4 &
) 29 29
17 17
@ 8 @ 10 o s @ 10
3 14 % 16 3 14 4 16
SR o 30. T
30. A3 |cs [F17 il Nl il
H5 lJ6 9 HS5 JJ6 ?
P8 |Ro- 7'2 | P8 IRo JU72],
1) M4 (2)M48 L | (1 M2 @ M43
- (HM33 (3) Ne4 L@ M3

(3) Ne4

fosgem: (31—33)@3*-%@1@?;“@?%3&13%?
"yg & foq It g & w3 e it sz wet frg g

Directions (31-33) — Following questions are based
- upon multiplication. Each letter has unique value

and for unique value, there is a unique letter. Ji AMD
AMD
_ xXDA
XDA e
MPR
MPR :
+JMS x RDOD
. BPsR BPSR
31. Value of A . 31. Adtag
M s 23 n 5 )
32 48 NO 4)
32.Value of P '
a s )7 32. Petaz
3 0 @ 3



33. ValueofB‘
() T (2}8
@3 s ;,(4)3__,. |

Directions (34-35) — Find correct group of signs to
solve the equation

34 24*34*2*5*12

(1) t+x=
@) =++- @ =+—-+
3.744%8%2%U
px=ed @ e=x
" ,(3);)( N E O (4) X =

36.A person is facing northwest. He turns 90° in
the clock wise direction and then: turns
~180%nticlockwise direction and now turns 90°
~in the same direction. In Wthh direction 1s he
) ___:facmgnow? I e Ly

(1) South west T 2) ‘W,ést
(3) South East +(4)South .

37.A and B:start walkmg from a point in: opposne
directions: A covers 3km and B-covers 4km, then
A turns right and walks 4 km while B turns left
and walks 3km. How far is each from the startmg
point? ' '

(1) 4kcm, Skin (2)5km,5km ;
(3) 10km, dkm (4) 8km, skm-

38. What will be the angle between the hour hand and the
mmute hand of a clock when the tlme is 3 27

o: - lo

(1) '5812—' (2) 47— o

(3) 600 ¢ E (4) 57°

39.1n a ches$ tournament each of séven players will play

- matches will be played during the tournament?
1 12 ()14
(3) 21 @18

33, BEtama Ll
Q)7 @ . 8
3 5 O]
fesgew : (34-35) mﬂm % q96 m‘t mmsr

34,

35.

f???"@"’bﬂ'a'mi?ll

24*34*2*5*12
(1) ++x=
(3 =++-

@ ++=-
@ =+—+

VAT A B
L(I)%X-—;':%‘-'i-“
@ x=+-
fé fenast §3 tew 5 9y four 31 Q0 wht
Sw= ot fanr &9 00° vnieT § w3 feg QT wt
ot @we four féu 180° unier J-ud feT 90°

@ +-=x
@) x++=

@wa?femfamﬂm@ma'a@afanhmﬁéa
%urfazr%? ‘

' (3) 10km,4km

38.

- with every other player exactly once. How many 39

(%)

@ ued
(@ - e

Syz-tew
dYE-YIg

O
3)
A3 B féa firg 3 @ue femr=t &9 9827 By
F9< T51 A, 3km %3 B, 4Km I&er 3| fem 3
WAH‘F!’H’Sﬁ'quMB'BH'ﬁ'HBa'?»hn

W%l@vé—%mwafsaﬁa F fast
gR I T&?
(1) 4km, 5km (2) 5 km, 5km
(4) 8km, 4km
3 27 @ w9 uifont Tt get w3 firet
zm’r;re’rﬁaﬁwﬁsﬁ%ar?
_ ]
47—
V) 2
57°

10
581—
2

60°

M

3 (4)

feaas%?rmrﬁ'zfﬁwfuaféinfr%a%aw
fusTat =75 fiq ot ﬁ-u' ggeT J| OF gaaHe
fé‘e’:‘%f%mﬁ'ausm?
O 12 )
3 21 “4)

14
18



40. A mirror is placed in front of the clock, the clock ShUWS
time 5:40. What time will be of its reflection in the
mirror?

(1) 440 (2)6:40
(3) 620 i 4)7:20

41. How many numbers from3 to 90 are fhere each of which
is exactly divisible by 4 and also its one of digit as 4?
(1) 21 )10 '
3 20 @7

42. Anyj is twelth from the right and fifth from the leftin a

line of boys. How many boys should be added to the
line such that there may be 30 boys in a line. v

(1) 16 )14
3) 15 @) 12

Directions (43-45) — A is son of B. B’s sister C has a
son D and a daughter E. F is the maternal uncle
of D. Based on above information answer
questions (43-45)

43. How is A related to D?

(1) Nephew (2) cousin

(3) Uncle (4) brother
44. How many nephews does F have?

(1) None 2)3

3 1 @2
45. How is E related to F?

(D wife (2) Sister
(3) Niece (4) Daughter

46. In a certain code, BEAT is written as YVZG then
what will be the che of MILD?

(1) ONRW (2) ONWR
(3) NROW (4) NOWR

47. IFREASON is coded as 5 and BELIEVED as 7 then
what is a code for GOVERNMENT?

1 8 @) 10
3 9 @ 6

40. fea dtwg wsht @ rond e Efapar 31 Fae
Wl 3 5:40 € AN IR 3T e fene ySifey
3 farsT At ferar ?
(1) 4:40
(3) '6:20

6:40
7:20

@
(4)

41.  3M3 90 feudd mfAT faatyt ffipnret g5 T 4

I IHEIN I5 M3 Qust & i i 4 =t 52
NS @ 10
3 2 4 7

42. EH it &t a39 <9 ia Ui 128 w3
& € 53 mavs 3 51 fow a9 f&g 59 f4s
U3 wir A 3t 7 939 9 &% 30 iIF T A= |
@ 16 @ 14
3 15 4 12

fsgem: (43-45)A, B39 3, B = Ccor fdgat
UST D3 R Ut ETIF, Derwmrr §1Qudas gaa

@ oy 3 ywEat & @39 7

43, AT DET & fauar I?

-

(1) s3tAT (2 999 Far
3 HwT 4 s
44. F @ fa& 33w (@=q) 957
(1) et &t @ 3
3 1 4)
45. ETF&Sal farar 37 ‘,
O w2 =
3 TS (Fedh ¢) Yt

46. fan fanfeg a5 <9, BEAT § YVZG fafimnr
#eT & 3 MILD § €W &5 f&9 fa2* fafynr

Aear?
(1) ONRW 2) ONWR
(3) NROW (499 NOWR

47. # fait §5 f&9 REASON & 5 »3 BELIEVED
& 7 fafour mer § 3t @7 &3 f&w

GOVERNMENT § fa@* fafamr ardar?

1 8 @ 10

@ 9 @ 6



48, If sky is called sea, sea is called water, water is called ~ 48. F WIS & FIE, AW § yTet, uret § O,

air , air is called cloud, cloud is called river then what geT § ¥e8 w §en § efenr fagr w2 3t
we drink when thirsty ? fipw Fare F mAt ot WiRtar ?
D) Sky (2) Water (1) s @ uet
(3) Air (4) Sea 3 = (4) HEE@
49. fai fanfes aF f<u-

49, If in a certain code :

: ¢ 9 =G0l 3
‘Where are you’ ‘written as ‘pitkata’ Where are you’ g ‘pit ka ta

‘Are they there’ & ‘sa da ka’

‘AI' h ’ tt 3 k 1) . )
e they there’ written as ‘sa da ka “They may come’ & “da na ja’

“They may Come’ written as ‘da na ja’ fesfipyr raT 3 I OF &3 FET there fa2* fsfionr
Then how * there will be written in that language? qrary?

(1) da ) sa | (1) * da 2 sa

(3) ka 4)ta (3) ka 4 ta

Directions (50-53) — Read the information carefully fseew : Jo+ fest Arearet § vz & yws (50-
and answer questions (50-53). Six persons are 53) € §39 fe€ | & et fex Jav ffv &8
sitting in a circle. A is facing B, B is to the right of I51| AB ¥ {7 o o7 J1 B,E € HH UH "3
Eand left of C. Cis to the left of D. Fis to theright C & &% yW &1 C,D T ¥ vW JIF, A€ A
of A. Now D exchanges his seat with F and E u® 1 7€ D »3 F, E »3 B »mum <9 Atz =e%

exchanges with B. BT I35 a
50. Who will be sitting to the left of D? s0. D@ U R & FoT 37
) B @F (1) B @ F
(3)E @A 3) E )
51. Who will be sitting to the left of C? 51. C& 4% yw d= For 37
(1) E @F (1) E )
3 A @B - 3 A 4 B
52. Who will be sitting opposite to A? 52 A@ FONE d= T 37
W E @)F 1) E @ F
3 D 4B ' 3 D @)
53. Who will be sitting opposite of C? | 53. C & AonE d< dor 37
I E @)D (1) E @ D
3 B @A : 3 B @ A
54 Which of the following words can be formed from 54, Jat ffipst f&3° fag=T 79 CORRIGENDUM
CORRIGENDUM? 5 gfowr 37
(1) ERROR (2) MURDER , (1)  ERROR (2) MURDER
(3) DANGER  (4) GENDER () DANGER (4 GENDER



Direction : Read the information represents by
Figure and answer the questions(55-58)

3
4 8 2
5 1./
Ll Py
\ .
11

In figure, “rectangle, squa’ré, circle and triangle represents
the regions of wheat gram, maize and rice cultivation
respectively.

55 which area is cultivated by all four crops?

(17 @8
3)9 42
56 Which area is cultivated by wheat and maize only?
(18 (26
(3)5 @4
57 which area is cultivated by rice only"
) 1 @ 2
3 5 4 11
58. Whlch area is cultivated by rice and maize only?
(O 238
3)2 47

Directions: Study the given information carefully and
answer the questions (59-63).

- Six friends P,Q,R,S,T and U are the .members of a
club and play different games football, cricket,
Tennis, Basketball, Badminton and Volleyball.

-T who is taller than P and S, plays tennis.

-The tallest among them plays basketball

-The shortest among them plays volleyball.

-Q and S neither play Volley ball nor Basketball.
-R Plays Vollyball N |

-T is between Q who plays football and P in order of
height.

59. Who aniong them is taller than R but shorter than P?
mQ U
(38 @T

W3 yHat & 37 fe@ (55-58)

.
4 ] 2
5 VZAER
' 6 110
g fégarfes, eaar mwmwm €3,
Hﬁm@mﬁ?mwm%m@%ml

55. fan&safévma‘lwmw@mwﬂvé?

@ 7 @ 8
® 9 @ 2 |
s6. fam 499 fw dww iaft w3 wew e it 7
m 8 @ 6
3 5 “4 4

57. fam 499 v a=% vew e R 0w 7

®H 1 @ 2
A s @ 1

58. fam ¥39 &9 w=m w3 it Uer 9 957
@m 9 : @ 8 ..
G 2 @ 7

ﬁsa-@r-r w%ﬁmgw&ﬁ@w
¢ ala €397 31 (59-63)

-8 SAI P,Q,R, S, T3 U fan a¥y T Mg 35 m3
Jy-Jy 45 43¢ 95| Qv v, fyde, Hfaw,
RIS, aaﬁmwa@wwmam

—Tfmsrpm@ss‘é?ﬁvésré%ﬁmﬂzw%l
- A9 3 &% d© T gHgew® Y ¥
- A8 3’ 8¢ d© % THIES gFer T
- QM3 S 3t It THEH MI 5T F THILTH I T |
- RTBE® dzer T ‘
TQ#WW%»@P@&?WW
e I , o
59. R?&?ﬁ?éﬁ*h@P?éﬁé&'%?

M Q @ U

(3 S @ T



60. Who will be at the second place if they are arrangedin  60. # €&t § 98 & &2 dee9 ugT digT 7w 3

descending order of their heights? gH AEs 3 dE wrear?
@D Q @R 1M Q @R
@ S @T SO @7
61. Who among them‘plays basketball? - 61. THILES A< 4T J1
MmQ 2R » Q @ R
G)T @U @ T 4 U
62. Who among is shortest in height? : 62. AF T ETITTH I J?
HPp ?Q n P @ Q
3R @S @ R @4 S
© 63. Who among them is longest in height? 63. M@ T EFITTH AT I?
MT @)U o o T @ U
(3)P @S 3 P @ S

Directions : (64-65) In each of the questions Arrange fogem : (64-65) a?? uwE & ”‘aﬁ'fﬁ W
the given words in alphabetical order and choose wEAg g €9 fod W3 & wet 329, §7g

" the one that comes last. e '
64. (1) Butter  (2) Butler 64. (1) Butter (2 Butler
(3)  Button 4  Butcher - (3)  Button (4)  Butcher
65. (1)  Colon (2 Collective 65. (1) Colon (2)  Collective
(3)  Colloid (4)  College ' (3)  Colloid (4)  College

Directions : (66-67) From the given words, select f&a€H : (66-67) f&s feamut f&5* €9 mee
the words which cannot be formed using the T & &3 Hye & wugt 3 fwsa st afenr Jl
letters of the given word.

66. DISTRIBUTION :
(1) TRUST (2)  SITUATION
(3) TUTION (4)  DISTURB
67. ARTICULATES :
() COURTS  (2) LATER

66. DISTRIBUTION :
(1)  TRUST (2)  SITUATION
(3) TUTION (4) DISTURB

67. ARTICULATES :
() COURTS (2) LATER

) TALES @  ARTICLE ()  TALES (4)  ARTICLE
68. The six faces of the die have been written with 68. fai ST & & urfim™ & #addl SI&HST €
~  alphbets A, B, C, D, E and F respectively This die is #Yd A, B, C, D, E W3 F 5% fafumr fapur 1
rolled down three times as shown in figure. Find the st § 35 = Qefon famr 31 fae° fa
‘alphabet Opposite to A. fage f&m fewrfenr fapnr ¥ ‘
A A <&F g A fawas e ferr &g fagar i@ I2ar |
A -
@ m n . ‘ ‘
- @ @ (I
() B @ ¢ , M B @ c
3D 4E 3 D @ E



69. Given below are the two different positions of a dice.
Find the number of dots on the face opposite to face
bearing 3 dots?

D1 ()6
(3)4 (ON

70. How many triangles are there in the figure given be-
low? '

(H4
(3) 16

)12
4)10

Directions : (71-72) In each of the following ques-
tions choose the correct water-image of figure (X)
from amongst four given alternatives.

71.

&
d

@)

M @ 0

72.

o

(X)

o o NV v i‘ :
>‘ A > v > ol | o™
(1) (2) (3) 4)
Directions : (73-75) In each of the following ques-

tions a part of questions figure is missing. Choose
the correct answer figure to complete the ques-
tion figure that can replace?

73. .
(Question Figure)

? (Answer Figure)

O o 6

69. T STEIN ¥t § Fy Sy wewgrer foghat
et 7 | firg fos & @ & g @vesr

wi‘réarr?

1 1
3 4

@ 6
@ S

70. 3 R fre fagmr ot fars st 87

1) 4 | Q 12
3 16 4 10

fagen : (71-72) ¥&F &3 o3w yws feu fifs9
(X) € ust € Aot ySifey ot §= a3-

O v v
DA Po =<

(1) ) G @
fagew : (73-75) d57 3 T¥a yws fevw 39
e fé¢q grar gyg §| &3 feasyt fe mat
feawy €t 9= a9 fam s mifmrr ffgT yor §
Are

3 (yus f939)
? @37 f‘é's'o')

O @ B3 @

10



74. (Question Figure) 74. (yFs f939)

? (Answer Figure) | @? @7 fézq)
KA K BECRCE
ﬁ(l) é?2) @) \(4) Hmn @ 6 @
75. 75. y
(Question Figure) P (yws fo39)
‘ (Answer Figure N ) 5

S I f"} ( 0%
r/s EIANAD l";'lk
O IO H ©» B @

fsgen : fod 7€ fuger f&9 €w fdge &t ST

Directions : (76-78) Find the figure from Answer . . T
a9 fAn &% &3t &9 BIr3a93™ o™ A (76-78)

figures which will continue the series in questions

76. 76.
(Question Figure) (yas f939)
L,"_:_'I "’ll o ool o.‘ aol|o.0
@) (b) (©) (d) @) (d) © @
(Answer Figure) (€39 f¥39)
I. [ ) l [ I | [ ] .l l. [ ] l ®| o [ ] .l
i g l l ¢|° | o\ L | l oo l oo
0] 2 3 C)) ) Q) (3) 4)
77 (Question Figure) 77. (A fE9)

BRRER  (BRRR

RNIRIY RITIRIT

) @ 6 @
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78.

(Question Figure) , 3
e X |Ixa [la? ,
@  ®  © @

(Answer Figure)

® X Al|® XAl|l®e XAll® XA

;v ? s ? 2|
s 2 fls Y \l
1) @ €)

Directlons (79-81) Fmd the dlfferent from others

\SXDJ

78.  (yws f939) .

pr— e ———— . . ;:
. X A
& X ||XA ||laz ||l2s |

@ () © @

(€39 foge) ‘

® X Alle XAlle XAlle XAl

Y ? S ? ?

s ? S Y 8 Y :

(D 2 (3 (4) |

ﬁS'aew %wiﬁawéazair(w 81)

B

Sh

0@ 0 ® @
80. 80. | B
(@) ) @) ) @) €) )
&1 81.
i1 | R .
¢y () 3) 4 ) ) )
Directions : (82-84) In each of the following questions f5deW : (82-84) JaF ¥ g3a yws &9 fas

there are three figures X, Y and Z showing a sequence
of folding a piece of paper. Figure Z shows the manner
in which the folded paper has been cut. These figures
are followed by four other figures from which you

have to choose a figure which would most closely
resemble the unfolded form of figure (Z).

-

4)

f63e X, Y3 Z tug § W= <t 3esty § foyr
39 351 39 Z mawAd Gug & dfem mer &)
f&3 feasyt &5 @wn feasy ot §= aF 7
hsazem?m@ﬂ?wwgew@v

I
82.
@
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Directions : (85-86) In each of the following
questions, Find the figure, out of the answer
figures that can be formed by ]ommg the pieces

m

. glven m questlon ﬁgure
85.
(Question . /
Figure)  (Answer Figure) |
%6. M @ 3) )
;(i)gu:rs;t;on (Answer Figure)
Q| | £ q
2 |60 IDIE

1) 2 03 (C))

Directions : (87-88) Keeping in mind that the state-
ments given to be true even if they are variant
from common known facts. Based on the state-
ments, answer the questions?

87. Statements :

All candles are boxes
All boxes are pens
Conclusion

(D) All pens are candles
(I1) All candles are pens

(1) If conclusion I Follows

(2) If conclusion II follows

(3) If both conclusions follows ‘

(4) Either conclusions I or II follows

(2) (3)

M
fsgew : (85- 86)3’6"%‘3’0‘63(1{)38@?@?
fesaut feF &n feasy et 9 a3 & YHS
fvsai?afe“@za‘fmrsnaarma‘él

85. L
(fgg) | (@_“—cﬁ' fa“—da)
m - © 3) @
g6. (YA&
&V o R\ S P
‘ éQ \o/ ,‘,
(6] @ @

: (87-88) feg fgw J¥¢ fa &3 aus ata
awwa‘@zrwm*e’ts*ﬁmamféw?
warfag yAst € €39 feQ
87. TS :

ATdbAt IS fred 96
A9 fgd U5 36
fier -
() W9 U5 AHESit 35
(I) APt WSS Us 95
1.9 fferista
2."qfierustad
3.7 €& fie sla a5
4. 7 fitet 17 fiter II 3t I
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88. Statements :
All fans are watches
Some watches are black
Conclusion
(D) All watches are fans
(IT) All fans are black
(1) If conclusion I Follows
(2) If conclusion II follows
(3) If both conclusions follows
(4) Neither conclusions I nor II follows
89. A printer number the pages of a book starting with 1
and uses 3189 digits in all. How many pages does the
book have?
(1) 1000 (2)1079
(3) 1078 4)1074
90. In a group of cows and hens, the number of legs are
14 more than twice the number of heads, find the num-
ber of cows.
M s @ 7
3) 10 4) 12
Directions : (91-94) All the roads of a village are either
parallel or perpendicular to one another and are all straight
roads, Roads Parallel to one another are A,B, C,D,E.

Roads G H, I, J, K, L, M are parallel to one another.
1. Road A, is 1 km East of B

1
2. Road B, is 5 km West of C
3. Road D, is 1 km West of E

1
4. Road G is 5 km South of H

5. Road Iis 1 km North of J

1 _
6. Road K is -2" km North of L

7. Road K is 1 km South of M

91. Which is necessarily true
(1) D is 2 km west of B
(2) M is 1.5 km north of L
(3) E and B intersect
(4)Lis 1 km north of L

88.‘3'5'6:

e I W=t 95

¥ wEtnt B et what I5

fier :

O bt wShat Iw g5

() AIUY TE GI T TS|
1. 7 fier 138ta &
2.7fierisla &
3.7 €& fie ola o&
4.5t 3t fifer 1 m3 &t t fiter 11 st §1
89. fafaswgua fig fasgeimr§ 13 vy
gdeT J 3 I& 3189 %@t § wager 71 €w faay fEw
&% &3 U7 Sedr?

(1) 1000 @ 1079

(3) 1078 4 1074
90. dre MI Haditt @ &3 9 &3t & fareat

frgt &t farest @ gor@ 3 14 &4 &) aret &t

farsat O

@ s @ 7

3 10 @ 12
fsa8w: (91-94) f&a firz et A=t A feg e7 3 &9
It fEa gw € M9 95 A T g &9 95 W3 Ardbrt
AT fiadtt 9% | 9 g @ AMTgT A=ET A, B, C, D, E
IS IASS G H, L J, K, L, M &g g & mitga 31
1.AST A, B3 1 kmydg ¥5 I

.--.1 Y] a
2.H38‘B,C3‘-2- fart. ten =5 &
3.73q D, E 3 1 faut. tew =5 3

1 o a
4 AT GHT 3 fait. Sys =

s.AEa L )T 1 fart. €zaew T

- 1 y -
6.HEHK,L3'E fart. @9 =5 3
7. 73T K,M3 1 fart. Suvs =5 5

91. faus Aget mat
(1) D,BIF2fait.iev=sd
@ MLZF15faMt.Qa@=sd
(3) Ew3 B feq gw § deatit 35
4 LLI1farxt. €953
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et moper EET e

e el st = AN, e e

et vy o

%’Ifrcad E 4§ bet\‘wééﬁ B and C, then dlstance b stiveen

(4) 1/2km

(1an11dB are S kim apart Ce

R T SN T AR e

km east of ‘A

2)D 1s

94. IfE is Bety

w‘wr‘r“t\ )i"’ r_=—~<r=7=‘r~--'

(1)D1s2kmwestofA N

f!v.aJ&‘i'ge H

(2) D s less than 1 km from B

@16@ thag 1 kpa\fromA"‘“_‘ T .
@) 1s’ Iess“than' 1.5 kni fromD .

Directions : (95-96) In each ‘of the following questions,
there is a figure (X) with two dots placed in it. This
figure is followed by four other figures. Only one of
which is such as to make possible the placement of
the dots satisfying the same conditions as in figure

(X). Choose the correct answer figure in each case.
95.
&)
[ . |
B LD
() @ 3 4)
96.
4‘/\
X)

o5

(1) @) (€) 4)

ToEE ‘(2)“1"31(,111 SEET W R T ‘;‘

v AFT AES By Biwd© fegas &3t Awa D

318 fe%ﬁg’ﬁ?*%w Eaer £1 eyennit b s ton ETAOLE
Rt ;(1){ 269 ‘
Sr3)it 155 2km 21 o 4pnis 2] /2kanssohy duda

94, AITE, chéﬁwa ?F@h#r*

Ao Wmﬁ“ﬁ‘ i oW 8¢
(1) D,A T 2fai ﬁﬁwwﬁ«

wJ<2) ] I ' 3

(3) CEAT 19 :
@ C Ds‘lsﬁar»ﬁ zméea’r-;f%

ﬁ'ﬁéﬂ (95- 96)3?1‘@333’3%1%??&?%&3%

I | fan & #ar 53 9 feasut fes Aot feasu €t §<

=3 | faw s7% aHfreur fge &t frgmt § SR dtasa e

Barfenr ATRAET 3= | ‘

95.

00D ¢ TG 'z;,} ViZ S

4

O

M @ ©) 4)

96.

) @ €) (4)
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Directions : (97-98) In each of the following ques- f539H : (97-98) Fa+ f&3 vda yws f&w v
tions out of 4 figures, three are similar in a certain f¥3at f4F 35 ffgg fait I &5 fEF fag
way and one is not like others. Find out the figure I& A3 ffq fo3q fegst T Y T Jyor f¥ze
which does not belong to the other three figures. &3 |

97.
6)) @) 3) 4)
98. 98.
O @ 3 @ 1 > ™ ~ |
99. When the given figure is converted to cube then which 99 ( )Flﬁ‘ f@é‘( ir)é ICEL] if(w)i f&s a‘é’slrrr r=ar
will be the correct alternative, 3t fauar feasy mat firg 529m)
F| F
i D0 9
s P EPE s VLY B7le
C|D () I )] 3) “4) C|D (C) )] 3) )
(1) AOnly (2) Bonly (1)3I3TBA (2)d<® B
(3)AandC (49 A,B,Cand D 3)AmMI C 4 A,B,CM3 D

100. How many Rectangles (excluding Square) are there 100. 3T g =gar 3 fagT fas wrfeg g ?
in the given figure? '

(;);3 (i) Z M 19 @ B
(3) @) | G 20 @ 2
SCHOLASTIC APTITUDE TEST Tt GarasT
101.The ratio of the effective resistance between the 101. &3 §& maae f¥g &t K, ¥8t quE M3 gmre
terminals A and B of the given circuit with key K, open fes gt e 795 3 A M3 B w3 fewam EL
and then k, closed is given by yf3eut & wgurg J2ar
K, r W
A
6Q A 6Q
2Q 2Q
B B
O 11 Q) 4:3 M 1:1 @ 4:3
3) 21 @ 23 G 2:1 @ 2:3
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102. Which of the following statement is correct ?

(1) A person with Myopia can see distant object clearly

(2) The eyes must be removed within 10-15 hours after

the death of eye donor

(3) Cataract is the condition of eye when the crystalline
lens of some old age people become milky and cloudy

(4) A student sitting in the last row of classroom cannot
read clearly the letters written on black board due to
Hyper metropia.

103. The distance travelled by a body in last two seconds
of its motion in straight line is what fraction of the total
distance covered in 7 seconds in the given velocity time

graph.
10
8
26
T.@4
3
< 2
1 2 3 4 5 6 7
Time(s)—)2
1) Z_ (2) 3
3) = 4 1
3 3 ) >

104. A Body has a negative charge of 1 4c . It means the
body has gained
(1) One electron
(2) 10° electrons
(3) 6.25x10" electrons
(4) 6.25%10" electrons.

105. Which of the following graphs best represent the
graphical relationship between Kinetic Energy (K.E)
and momentum (P) of a body in motion?

o

- —KE —KE — KE —KE
M @ 3 4

102. Jor &3 aust &9 faogr aus Aot J1
(1) faae fowet € arae WY ga et I3t
A'e 9y Aaer J| ,
Wyt 5 q96 TH femaat @ i3 3
gofe 10-15 dfent S syt a4 St
grotEmt IS |
o fore €0 Afast 3 78 €9t e
& gy femadmt Tr 339 87 gubn 3
fregr § AT 31
fewr fefenrast o fondt &0 amas Mg
@ mitest a3 feu 85 & 98 &9 3
fod wn@t & WTE 5T QU REET
103. &3 & Sar-mt gre v eng o mited
2 Rfes f&g 3w &t aret gat, @ng gvar 7
Afgst féw g5 P aist gat e fasr grar d<ait |

()

3

OR

10
8
2 g
¢§4
2
1 2 3 4 5 67:
AT (s) =
1 5 2
W 3 @ 3
1 1
® 3 @ 5

104. feq=Ag 3 1 pc fozrava aan 3 | fem e HamE
3 fa eng & 3 = fedags qfoe i3 95|

1 feafedaes
@  10¢fedags
(3) 625 x 10*fedagTs
4) 625 x 102 feBags

© 105. faR argws @Ag & aifsw €9 (KE) »3
#r2ar (p) fee® Hig § fags qre Adt eanger
Ji
P P -
Tl/ TV Il/ 7‘ /
—KE —KE - K.E — KE
(1 @ 3 4)
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106 Two fhm lenses of focal le k h é’n?d 05 are Sgontact 106. SUIBBAE foar onr & g BT Showr fopar S id’
* dnd Coaxial. Tts Power is same as ‘power of a single - et F 51 F, w3, EEDTEBT 3‘@'@38"3#
, lensglvenby o :fi R ﬁﬂaﬁ'ﬁaﬁhéﬂaﬁ'é‘ QT THS |

L Ny 107 \'Vﬁawswﬁamwﬁﬁwwé@w
107 A stone is dropped mto a well avmétfree water
‘I‘B 21 ortzrr AR A4 Miea auret 38 Sa wetmms e <
ce at depth 44 1 m e splash 15 hear 3.13 S .
um@&ﬁgﬁfmm 31300 g geret
et & 3t ot e ger fem T ot FE Mg= 98 11)
¢S TG r:tﬁ' £01 () 3392 ieg/Afgs

ehiir ‘J("c owd }»’Iuili"l‘ﬂ gt nolloysny sonmteih 00T £01
o 44 Y ket B
PR BEBYIR D /ﬁﬁ? . .
T o isforsillio r'r;gﬁrgs ff‘sﬂ\ 2t ol ddnerda il potos 24 o

"'(2) 342 m/s

| &?:(3) 344.3 m?'s 20015 it A gy fgﬂfé“fi a1 ebeanss Ui hasvon aorstaih
R T Y — o8 (i) oo mt o s 512
108. Which of the followmg sﬁi:lent does np} describe ’ =0 ~ e %
the possible cjiv.lsg of overlo g in househ@ldmrcults EBH"@%"TG;
{5 :é 3
) Acmdental hike in supply vhltage ; (1) fist #, aa"r %‘8@# T ST
?2) Substantlal reductlon of currcntmthe circuit. [9)) Adae f&g fa-,:rgg’t grgT | ag_rg- e T
(3) Too many electric appliances connected to a single HET|
socket 3) fx Tt mrfae &9 993 A9 foaset g9
sarge 3
4) Live wire and Neutral wire comes in direct contact " o
(4) Live wire and Neutral wire comes eeteontac (4) sfez g9 W3 Qumts 39 o G
109. Abus of mass 2800 kg is travelling at a speed of 90 fruee feég gz 3
km/h. A Retarding force of 5600N is appliedonitfor 109. 2800 faﬁal'r).r UH <t foar g7 90 fadhiteairer
a distance of 100m. Its velocity reduces to €t 913t &% 9% at 71 A9 ot < @we four
1) 45kmvh ) 54 knvh , EvssoON?m 1oo»ﬁzae°rg§‘rasimf8w
#er 7| g7 < 9% we § faat T At ?
(3) 36 knvh (4) 18.4km/h 1) 45kmvh )  S4kwh
110. The refractive index of medium B with respect to (3) 36kmh (4 184kmh
medium A in the given figure is given by 110. &3 @ 39 & Wrfond B & wfomd A 375
A - AUYS HEE3s W Jear|
3
Oy V3
? 0%
1 .
@ 5_ Medium B 1
| @5
3 Medium A
3 —- 3
2 & 5
: 1
@ 7
V2 @ 5
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(ﬁ)Zﬁcmx 40¢m

.111.-Acblock of wood having mass 15kg:and dimensions
40cm x 30cm x 20 cmyis keptona table top.Itis made
to lie on the'table top in three: ways w1th its sides of
dimensions ;- el L

(a) 40cm X 30 cm (b) 3ocm x 20 cm_

The pressure ¢ exerted by the wooden block on taste
B topwﬂlbe .

. (1) Max mum for way (a)'_‘
i(z) Max1, umfor way (). -

3) Max1mum for way (c)

- (4) " Same for all threg ways~ j
112. Figure shows the magﬁetlc fleld Tinesof a magnetlc

. -field. There are three points A,-B and-C in this field.

- Choose»the correct optien: regardmgﬁeld»strength

£ +¢1) Maximunrat A and minimumatB. . 57

(2) Maximum at B and minimum atC

(3) Maximum at C and minimm at'B

(4) Maximum at A and minimum at C. ;

113. Identical packets aré dropped from two aero: planes one
- -dbove
- —h. Now g.a and g are respectwelythe accelemtlon dueto
grawtyatthese places. Assmnmgallcondmonstobe similar,
If t and t, are respectively the time taken by packets to
reach the surface of earth Then, - :

(1) t,>t, because g,< g,

(2) t,>t, because g > g SLWEES A
B3) <t because g <gp

@ t < t be’cause g >g.p '

114. The luster of a metal is due to
(1) Tts high density » B

(2) Itshighpolishing R

(3) Its chemical mertness B B

(4) Presence of free. elgctrons :

<131

ﬁﬂmﬁ*wwﬁkglﬁf@*amﬁfenﬁw
W40¢m><30cmx20cmamfenm3

f&ruﬁw A=t mfs?r Afaghat 39 Ha
(@ 40cmx30cm (b) - -

~0emx40cm -

30,cme><:20 cm

mﬁ@mwm%mwm

v .
o gRarl

N
CA120

Hﬁﬁ(a)ﬁﬂ??‘%‘ﬂ
‘frrfas"f(b)se’rnasrau

ﬁrrfas’r (c)wnazre'u"’

% mfadiort met SO
zﬁammwvaﬂmwama

()

113.
uator-and ther above north,; lebothatheight . ...
fhe squerance venorhpolebolatheight ;.. ‘“‘fﬂmﬁ*s"fssrﬁzrﬁazﬂ‘e‘wammg and g,

51 feTat ETST & ST YT JE S (I

114.

19

A, B3 C &et et 39 <t yesar A fao=r

(1) frga3ngd <y, ﬁvBsﬂas'w'e
@ fEBIRI, fig CI AT Ul
3) ﬁ:recsnasretr ﬁ?BB’H?S'w?
4) ﬁ'é’AEH?B‘é‘EI' ﬁ?CB’H?E’W’Z

Mwmﬁaﬁuaaa‘h’ewﬁaeaéaa@r

wwﬂwmﬂ@mswwm
T Hmaéafﬂfaﬂﬁrwfeawwé’r
m@wmﬁﬁvmmnﬂM|

M t>tfﬂ€ﬁrg g,

@ t>t fa@‘f&'ge>gp

G <t fsr@‘f—crg <g,

@ < fa€fag >g

3 ot 9va It I, ferer @95 I-

(1) Grt€vwes

2) Ot fanmer ufer

@) Owet anfefexr QemHiaaT

4)  Wag (@FI9) fedagrst € Hgedt a9



115. Copper sulphate can be safely kept in a container
~ made up of
(1) Aluminum 2
(3) Silver 4
116.Two atoms are said to be iso bars if

(M

Lead
Zinc

They have same atomic number but different
mass number

(2) They have same number of protons but
different number of neutrons

(3)  They have same number of neutrons but
different number of protons and electrons
“

Sum of number of protons and neutrons are
same but number of protons is different

117. The Visible universe is estimated to contain 10%2 stars.
How many moles of stars are present in the visible
universe
(1) 102 mols
(3) 0.0166 mols

6.023 x 10'mols
6.022 mols

@
@
118. Which set of given elements A,B,C,D,E wifh atomic
number. 1, 3,7, 10, 11 belongs to same period and same
group, respectively.
(1) AB,CandB,C,D
. (2) BCEandABE
(3) B,CDandAB.E
(4 CD.EandAB,C

119 The following compound 1 and 2 with identical
molecular formula but different structures are called.

HoH H oo
H-C-C-C-C
H H HH
HoH
;- ¢-G-H
H CH,H

2. Isobutane CH,

-H

0-

1. Butane C Hio

O-x

H -

O

(1) Homologus Series
(2) Unsaturated Hydrocarbon
(3) Structural isomer

(4) Functional isomer -

20

115.

116.

117.

118.

119.

IYT ABeC € WH § fan U3 @ v gagx f¥w

Adftonz z“rfu»rr A Aaer
(1) Aishnr 2 83
(3) fas=e 4 faa

€ UINE § mreaa faor weT 3| Aae

(1)waummarmwzmrra-
U A s 32

) €T fEw Yot ot forest mis ug
fs@erst &t farest s 521

3) st f&w faQerst ot forest mis ug
qzw@femwe’rﬁm’rm
=

(4) Qu5t feu Jorat 3 ot or itz mrs 92

U3 Yerst 2t fare st nimnres 32
fevetar gfois feg wawfag 102 373 g%
fevuetiar gfoim féw orfort @ 33 i "ge
TS|
1 10203 (2 6.023x10'H®
3) 0.0166H® 4 6020

A, B,C, D, E 33, figt & gvems yawg w1,
3,7,10,114, fewhvwe*faasngm
fear 3t Witz 3 fexr Tt sy &7 frérg e 3

(1) AB,C,m3B,C,D,
(2 B,C,E,M3 A,B,E,
(3) B,C,D,MI A,B,E,
4 C,D,EmM3 A B,C,

ﬁsﬁfavmwlézémma'e’rgsaaaua
95T A I995 B o ye39 Sy-Fy gx|
fegat § ot afge g

HoH OH G
H-C-Q-C-(;:-H
H H HH
1. fa@3s CH,,
H H H
H-C - C- Coh
z.vFeTﬁfaQéaC4HloH CH. H
(1) At B3t
(2 wAf3uzg Tetsgaees
(3) g=3§ MO
fafernrava mpiamer



120. An element X form an oxide X, O,. In which group
of Mendileev’s periodic table, is this element X

(1) Gropu II (2) Group V
(3) Group 1II (4) Group VIII

121. In the reaction 3Mn02+4Al—>3Mn+2Ale3 the
oxidising agent is

(1) MnO, (2)Al
(3) ALO, (4) Mn
122. Which of the following is keton functional group.
R=(-CH,),R is Alkyl group
1 R

R:C =0
@ -C-OH
]
3 -C-H
0
4 1]
@ -C-OH

123. Convert 20 gm of water into moles.
(1) 2 moles (2) 3 moles
(3) 1.5 moles (4) 1.11 moles

124. The metals which can form amphoteric oxides with
oxygen are.

(1) Sodium and Aluminium
(2) Zinc and Potassium
(3) Calcium and Sodium
(4) Aluminium and Zinc

125. An element X forms two oxides XO and XO,. The
oxide XO is neutral but XO, is acidic in nature. The
element X is most likely to be
(1) Sulphur (2) Carbon

(3) Calcium (4) Hydrogen

126. Which of the following does not undergo sublimation?
(1) Camphor (2) Silica

(3) Dry ice (4) Iodine

21

120.

121.

122.

123.

124.

125.

126.

¥3 X féar mranmets X, 0,5 @er J1fev I3
fswte o weedt Aaet f&u faed oy f<e
Sfepwr famr 31

(1) @@ 2 W@V

(3) dEv Il (4) TGy VII

I fedt anfefea fafen fe9 3 MnO,+ 4A1 —3
Mn+2ALO, »rartarad (Oxidising agent) faaard|
() MnO, 2 Al

(3) ALO, (4) Mn

& saw@er &1 R = (-CH,),R W&afes gy J|
1) F;:(::O

@ _¢-oH
20g Ut § W &9 a8~
M 2
3 4)
Qg urgt 7 WA &7 fafemT aga HHeefad
IR gSgIEt 35|

(1) At AHitat

@) w3 Temw

(3) awHIMH M3 AFPH

@)  AiEst w3 A

¥3 X & WaATEs X0 w3 X0, :=T@er J1X0
et §ets I ug X0, 3ATH WERTEs
3133 X feast f&u fagar 31

(1) A®ed (2 IS

()  AwHPH (4) TEEIHS
¥5 et feg faga dag €38 fafonr &
&4t garg@eET|
(1 Ty

2HS INS

1.5H% 1.11 4%

2 faztar

(3) Hat=EI® @ wfegsls



127 Guard célls are capable ef”photosynthesxs ‘because
wetheybave o vF wp fe oo
(1) Cytoplasm, nucleus, centrioles == "
(2) Cytoplasm , micleus, centrosome
(3) “Cytoplasm , nucleus, chloroplasts
<-4y Cytoplasm rrucleus ehroniosomes
}2§ “DNA'is found in nucteus of céll and
(1) Golgibodies =
@ Lysosomes o

(3) Vacuoles R |

) Mrtochondna BRI -

129. A and B are the two reproductive-eigans‘ of females.
A is responsible for nourishment of the developing
embryo and B is where sperms enc;ounter egg, A and
B respectively are :-

(1) Vagina and uterus
(2) Ovary and fallopian tube
(3) Fallopian tube and uterus
(4) Uterus and fallopian tube R
130. Which of the followmg d1sease isnot cased by virus?
(1) Dengue :
2 TB (:Tubercul‘dsis)
A3 - Cough
(4) Aids o
}gf Which of the folIowmg tlssue glves tens1le strength
against bending and swaymg? o
(1) Parenchyma = oo Sronad
(2) Colleuchyma N
(3) Scleren chyma' : o
(4) None of these. =~
132. Double fertilization is characteristic of
(1 _Angiosperms, . e
,GYmnospenns )
(3) <Bryophytes
4 Ptendophytes
133. Study by Mendal d1d not take i mto con51derat10n which
of the following characteristics 6f garden pea.
(1) Shape of flower ..
-(2) Colour of flower
A3) Shape of seed
(4) Color of seed

127.

128.

129.

130.

131.

132.

133.

Wﬁ'&mmwmmfa@ﬁ
) ﬁwge,é?aa,ﬁ?a’rﬁx

A oo

2 A% ¥R, Tedy, feann

(4)  F®Te, aeew, AT

Stois e Am & oga M ... feg ger
()  IrsHAr Ffewrat

2 sElEEY

(3) st

4)  HrEearEE

A»@waméé&mmm?
&Hmwﬁﬂsmﬁm@ﬁf*éam@ﬁw
wzmawlAmgBewaw—

() watw3 §9est

) mwweﬁa‘r

(3) Wz At I et

4) ﬁ'é@?frmz?ms'eﬁa‘r
fewﬁefaas‘tfwm’rfemwwm’r
Jat?

G ¥ -2 Fs
G wWt . 4 gsF
n@m?ﬁﬁ?"mﬁ'? :
()  UHIsIEHT
2 TBIAEHT
(3) HABISATEHT
4 detStasar =
<99 forus fam e g 31
() wrtEmuR
@  foEmEr
(3) gfeQereten
(4 JdEeEe
mw»rfm%feameu%efaas
BeeT & 59t four fapar e
() EBEtEEIe
(2 Esegar
(3) zﬂ:re’rma

(4) dweswoo



1345 Which patt of<brain wﬁ'tﬂﬂs; satieationand biedd

pressure? | 1itsT 7 5 g ORSHTE
(1) Cetebfum :%; R L 01y
(2) Moadilla’ S SN LIS

*&%} C@ebe hll& wTE TR
€4}‘ Wthalwus-a; -

184, Tvrar, = oo Ao &% nﬁ’ﬁﬁ e T
T B e WP A i)

)]

(2

ot o 0TE e

EIE’EEMx

135 Which kind ofplastld is more comm‘ﬂowers and 135. ¥BF MI BT fag ﬁ:m'lg'rg—cr ﬁsma' u'p;rnfzs

fruits. (& : (i

1 Chloropl;asts Tin

(2) Leucoplasts .. FHTE oL Ty AR

3) Chromo“plasts _ ,
pE U

“4) Protemoplasts
136. Excretory organs present in annolids 3.0 (8
(1) Flame Cells (2) Lungs
3) Nephrldla ) (4) Kidneys
137. Protems are synﬂlcsuedbyivhlch part in the cell?
) Plastld ‘(2) Ly omes
(3)/ Kibosomes (4 __Golg{apparatus
138. Glucose is mainly absorbed i in whlch parf’ of kldney
J “I”} '“Dts{ta}conv‘blufed tubule”' ST EsEi9m €51
(2) Loop of Henld © ¥ BH ™7 « TE Gore
3) Proxunal convoluted tubule\ : &y
@) Bowman’s capsule )

1395 Genes: agéamadeaf o
(1% Lipoproteins
2 Hydrocarbon
(3) Hisfones Goof 3
{43 ( Poly nucleptides; Ti §5 TEU BT vx 8L

140 Selestihg:set oianaiggtgmﬁﬁpﬁ‘thq;qﬁomng -
(1) Forelimbs of flogandlizard o (I}
(2) The winigs ofibat and wmg of abiird (%}
(3) Forelimbs- 6£bndfand:h
4 Forehmbs of cow ana duck

141. If /512 2" \/ 5625 =5" and \/34 =7

then what w1ll be the value of x—y + z?

T TEY e“w( @RS

1) 4 2) - fg*‘é'si &r 02l
B R WS R ATV TS IR A

142.Ifa+b=1then what{{vyx\_u} be the value of, i

a’+ b’ +3ab -
ms e,

gegs? i
(1) TBIUBHS
@ fs&ausme .
4) UdteuUBme

136. Wf&vﬁasmmwﬁmﬁ “a?s"?
1) mﬁ‘& @ @3 5
3) ?ﬁa‘l-aﬂw @ e

’f/

137. maﬁammﬁawﬁl

1)/ nusmfes N\ (@) " BRERAT
@ gEEm 5 (@) g ifenret
138, ,g]'d? ;@wiﬁnfavwﬁmw o
() &3F uIaHB J&<
o, OGS

H )}’! it :./,

o s fmeEs e as

(1 fEuEs
@ I
3 RS (He, o UV

2 oy OTRH ramiGeratgd ouliy ool bl gk
140. UEWW*%?WWGT%WA“”

(1) FFuSfeuagtenmdid o

) mﬁﬁﬁﬁ@ﬂ? S1EY

(3) St W3 vEY € v I o

@) oo 3y O N, il Ok
141. 7 /512 = 27, 15625 = 5”"3'«/—37 L7?

El‘e'B"’H‘B‘UE"aH“x—'y+z ? a(t

6)) 4 2  6uinuinvli]

Ty (\;) ,.“”A‘.,. ;‘,:(, e p‘;(;4§)r:_.} ,%
142. T-l‘oﬁa+b—ltl'€'3"'a3+b3+3ah€1’)-l'$'6ﬁ'

J=ar? B0 =6 ()
O @ 1
3 3 @0 L



143. The circumference of a circle exceeds its diameter 143. f¥a Yog @r ufgr fere famm F 270 M ST §

by 270 cm then the length of its diameter will be 3t fene fonm <t et 5341t
(1)252 cm | (2) 126 cm (1)  2527M @ 12670
(3)31.5cm (4) 63 cm (3 315w (4) 63
144. A number when divided by 6, gives remainder 2 then 144. fox Hfpur 2__"; 6 5% &3 I 2 gt wer
what will be the remainder if square of that number is 3t R AftdT & =gar &6 5% &3 I f&ar
divided by 6. gt g
(H1 ‘ 22 @ 1 . @ 2
(33 “4 3 3 4 4
145. Find the value of ()7 4272 145. 07427 STHS UIT&T ?
1 34 (2)2.77 ) 3% ©)2.77
3 36 @35 3 3% @35
146. C 146, C
370 . x 370 : x
A "B ' D A B ' D
In the adjoining figure AB = BC, BD = CD and[BAC = &7 & 1% fif39 f¥9 AB = BC, BD = CD #3|BAC =
37° then what will be the value of x? 37°T I x T HB UIT AT |
(1) 32 (2)74° (1H 32 2 4
(3) 106° (4) 34° (3)  106° 4 34
147. Find the sum of all the integers from 1 to 100 that are 147. 1 3 100 3 €uat Agtwt )’irga?; HAfgnrat @r
divisible by 2 or 5. : HEeB U™ d9 W 2 A 5 578 YT I
(1)3000 (2)3050 | (1) 3000 (2 3050
(3)3600 (4)3100 | (3) 3600 @ 3100
148. Find the value of xy if (1,2) (4, ), (x, 6) and (3, 5)are 148. xy € H® UIT AT AaT (1,2), (4, y), (x, 6) 3 (3,
vertices of a thombus taken in order. 5) I <9 e Avezagw © fing 3=
16 )9 1 6 @ 9
(3)18 (4)24 149. )(12; uaTl;%— o -24
' - 6H6H6 k.
149. Evaluate : a1 3 @ 2
(D3 (3 6 @ 1
3)6

, 150. B U3Td9-
150.Evaluate

COS?5° +C0OS*10° + COS*15° + . + cos29o°. COS’S°+COS*10°+ COS™15° +....+ COS*90°
1

' (1 8= 2)8
(1) 8% )8 2
) ,
1 3) 95 49
3 95 49
\\\\ 24

\
\
\
\
\



151. A cone of height 24 cm is divided into two parts by
drawing a plane through the mid point of its axis and
parallel to its base. Find the ratio of the volume of two

parts.
(D14 2)17
(3)4:1 @27
152. If 1960 = 2¢ 5° 7° then find the value of 2 7° 5
(1)175/8 (2)7/200
(3)7/2000 (4) 56/25

153. In AABC, D is a point on side BC such that 2BD=

5DC. If ar(AABC) = 49cm?’ then ar(AABD) =

(1) 28 cm?
3) 14 cm?

times of its recprocal. Find the number

(1)20
3)-20

155. If a=2, b=13, C=4 then find the value of

(2) 21 cm?
(4) 35cm? ,
154. A natural number when increased by 6 equals 280

@) 14
46

ab+bc+ca-a*-b*-c*

3abc-a® -b*-¢*

(1) 1/8
38

()9
(4)1/9

......

156. In a two digit number, the digit at ten’s place is three
times the digit at unit place. The sum of the number

and the digit at unit place is 32. Find the numbers.

(1)26
3)62

)31
(4)23

157. Mean of 8, 12, 16, 22, 10 and 4 is 12. If each
observation is increased by 25% then resulting mean is

(1)9
3)12

Q)15
)16

158. Which of the following can not be the probability of

an event.
N
M 7

(3) 7%

@

)

0.95

- 18

17

25

151.

152.

153.

154.

155.

24 i Quret T8 féa g & fene w9 € WU
firg &5 g @ AT fEa 3% &5 © ffar
f&g dfenm famr 31 = fifiprr @ mrfess &
WEUTS U3T A9 |

1) 1:4 @ 17

3) 4:1 @ 2:7

FIT 1960 = 2¢ 50 7° F& It 27 7° 5w §H UST
aﬁ-_

1 1758 () 7200

(3) 72000 4  56/25

AABC f&3 g@ BC '3 Jet fyg D few 337
Afgz § fa 2BD = 5DC J1 A9 ar(AABC) = 49
2 3 3T ar(AABD)=......

(1) 28 (2) 20m

(3) 14mP (4) 35m

féar yrigaa #fwnr <9 6 A9 3 feg v
©®eaH € 280 gIeT © FIEI T At | ffer
3T dd |

(1 20 @ 14

3) 20 4 6
AGTa=2,b=3mM3 C=43< 3T B UIT &7 |

ab+bc+ca-a*-b*-c*

156.

157.

3abc-a’*-b>-¢’

a 18 @ 9

.3) 8 4 19

& wiat TvEt feg fft o ooret v @re fearet
W e f3arer I Aaq fen ffarr w3 fene
fearet g @ A3 32 3 I Al usT AT |

1 26 @ 31
3) 62 4 2
8, 12, 16, 22, 10 M3 4 € HuW's 12 TI Fd9

I YU T WS 25% =Ur fo3T A= 3F &=
) - | .

@ 9 2 15
3 12 4 16
158. J& fafumt f&5 faost fan wesT € Ag=sr
Sdt T Aaet?
5

6)) 1 2 095

3) 79 4 L

3) 7% @) 7



59 Anegiverrfigure, BB and DA are perpendicular to:AB,

%C"“IFOE“‘"’Scm G&J%?cm aud“ar(ABEE) 150 cm? g

(1) 294 cm? ) 210 cm? i (1)
(3) 150cm? (4324 cm | ®)

/1 60.In the glven ﬁgure PQ is the diameter of the c1rcle If 160.
‘, PR - Scm and QR =12 cm then ﬁnd the area ofthe
. shaded region.

()5 ;;-30) <;m2 M

ibfx =l

3) (169 7 -30) cm? (4) (—n 30)cm

(2) G6x -303;'cm2 t

161. What is the latitudinal extent of Ind1a‘7 7
(1) 4-° 8’Nto 376'N -0
‘;,,k\@) 7@& ‘LNiQﬁJ" 6’N &

162 Sardar Safovar Dam is bu11t on whleh one of the
followmg nvers" (i

@ pTapl g ovn

N e s 1(4‘)& ?”Satlty'"-—" zf-:;;;

163. Which one of the followings hassbeen dgelared the ="
Union Territory (U.T.) by Government «of India 163.

S 20ame T )

@)

159, feya;efawfevEBmDA JYYFT AR B
- BE J5 |/ OB = 574, OD = TAH MJ ar(ABOE)
2 mil50 M 8 an(AAOD) =

C200me
324 B

1502 (4)

&3 o 939 <9 PQ a9 & fia foum T
. H99 PR =:5 AW M3 QR =12 AN T It &rfomr
N@&Z I T USRS I /T

@Q57-30m2  (2) @6 -30)m|2

c e
(169 7 -30)mH2 (4)(Tn - 30) e

161. 393 & waAH fergg gt 72 -

48839 F 376 €39
8°4’@333‘37°6’@‘o’3

4T T I 6 TR
_1006333'400633

162. mwg_gﬁ 5
f'E) 3, S efgmr Wf?’:r"ﬁ
(D
(_3);’

=

Jar. .. . @

=y S

=

aea’rmu—a:rwz’t hmrﬁ'mrrﬁwal

recently? i (1)

B Bhopal: % ] MR € i W’f’i A2y ‘{E‘H
(3) Gangtok (3) deew ) a'aw

164. Marble is a —— 164. v fEad- o S

(1) MetamorphieRock ‘- P b (1) yI=If3z g "
(2) Igneous Rock L 2) wEBtEes
(3) Basalt Rock™! o Y @) WSS
(4) Sedimentary Rock 4 3feed Jes



165 Kaziranga Sanctuary is stuated in \ which one of e’ 165; awiveTAwE e 8993 fafiont &3 fé{:!?

following states ? (%) TR
(1) Haryatd® *(2) "“’“Hmﬁéﬁé‘f?radesh

(3) Assam - (ﬂf) ?m]ab BT
166. Matchihié followihg | 166.
@ Irdf O 0ol t) a. Digboi
() Coal -5 7 %5 b-Singhbhum
(i) Manganese c["Bafaphat
(iv) Oil ' Ezﬁaﬁig“hh T

(1) (i), (i), (iii)-b, ﬁv =4 .
) ()-b, (ii)-c, (iiD)-d, v B EE (b

& @) (b, (i), M)-e- Vi 5 s frfitess et
4) (), ()b, (i), (vV)d e S w8

167. The mw flat prea extending from south}qn part

of Pungab{a@g Harngq to the RannofKutch lﬁlinown

| S3o 'JTT = =fz 5 THG TEDRE =wE BTGH )

M

(i) )fl'awﬁﬂ' i. b0
iv) 3%

mfevnfas'?r?

i

1) ()-d, (i)-c, (iii)-b, (1v)-a (
(2) (i)-b, (ii)-c, (iii)-d, (1v)-a L o
(3) ()b, (11) d (111)-c, (1v)-a -_ -
@) (1)-a, (11)1) (311)-0, @ Vs-tf R

s - 1
) Tha Thar Desert e st TasT -§ ( ) = , v
},:Thsﬁgavgh Hll,ls‘ T (N (DS %’&j YJ £ " alo% oM (1)
L X SO QN H ?\(4)( Qaa-gm -

168. Whlch one. of thefollowmg states pecewesmmfall 1n£

168.
winter season -
(1) Punjab (2)  Uttar Pradesh
(3) Gujarat 4 Tamil Nadu
169. Which one of the following states produce more 169.
Coffee? ‘
(1) Karnataka (2) Andhra Pradesh
(3) Tamil Nadu (4) Madhya Pradesh
170. which one of the following countries is not a member
of South Asia Associated of Regional Cooperation 170.
(SAARC)?
(1) Bhutan 2 India
(3) Nepal 4) China
171. What do you understand by the term ‘Loo’? 171.
(1) Sea breeze
(2) Land breeze
(3) hot and dry wind
(4) coldwind
172. Which Viceroy made Delhi the capital of India in 172.

1911 A.D.

(1) Lord Curzon

(2) Lord William Bentinck
(3) Lord Hardinge

(4) Lord Mountbatten

27

asfzxfuwfaﬁ'faa%mféanaéwém
f&g Taur gt 37

ORR'CL @ SsTyEw

@ WS 4 Shsss

& fofipnr f&5 faodt Aée det e @BU"G?F
Ag 3 =u Jdet I 7

(1) & 2 wug q—é'ﬁ.r

3) IHssg (4) dATB
5 fefonr f&9° fagsr on dus Edwt u3dt
AfISaEr faes (AT9d) € AEd &at 37

1 g 2 993
(3) JUH 4 w5
‘s’ mEe I gTET A ITI?

(1) Aiedt T

2 wistiE

(3) W w3 yRg i

4 &stie

foam =fera® & 1911 . feu f&wt § gag &t
TATST e

(1) TS TS

Q) ®Is feshm ifex
(3) &9 gafsar

(4) BIS g &E



173.1In 1519 A. D. Zahir —Ud — Din Babar was the king
of -
(1) Kabul () Fargana
(3) Afghanistan (4)  Kandhar
174. When was the battle of Samugarh fought?
(1) 1658 A.D. 2 1659 A.D.
(3) 1657A.D. 4 1660 A.D.
175. Which Guru Sahib composed “Thit’ bani
(1) GuruRamdasji
(2) Guru Amardas Ji
(3) Guru Angad Dev Ji
(4) Guru Nanak Dev Ji
176. When did French troops Land in Vietnam?
(1) 1856 A.D. 2 1854 A.D.
(3) 1858A.D. 4 1830 A.D.
177. Print technology of China was brought to Italy by the
great explorer —
(1) MacroPolo  (2) Vasco Da Gama
(3) Columbus 4 Magellan
178. During India’s freedom struggle , which one of the
following led to the first ‘All India Hartal’
(1) Protest against Jallianwala Bagh Massacre
(2) Protest against Rowlatt Act
(3) Arrest of Mahatma Gandhi
(4) Arrival of Simon Commission
179. On 31 January 1930, Mahatma Gandhi sent a letter
to Viceroy Irwin stating — demands
1 10 ’ )} 11
3 12 )] 13
180.Nationalism alignd with factor led Europe to dlsaster
in 1914
(1) Liberalism (2) Isolationism
(3) Imperialism  (4) Non intervention
181.When did Shiromani Gurudwara Prabandhak
Committee to be in existence
(1) 16 November 1920
(2) 14 December 1920
(3) 18 November 1920

(4) 29 December 1920

182.In which year Neta ji Subash Chander Bose passed
the ICS examination

(1) 1919AD. (2
(3) 1921AD. ()

1920 A.D.
1922 A.D.

28

173. #dte-Qe-€t5 a9 1519 ot fou 5 o Amar A
1 TEs (2) EJaraT
()  wEErfewas (4)  &ug
174. AHIIF €7 9U < Jfemr-
(1) 1658%t. (2) 1659%t.
(3) 1657%t. (4) 1660%t.
175. ‘fa3’ faw g wrfowrs &t oat §-
() 3T THew #
(2 TG »gEw A
(3) g HEe o= At
4 g 5 o< At

176. I AaT & ufgst =9 fowgay &t vt 3
39 ge yrfemr-
(1) 1856%t, (2 18547%t.
(3) 18s8%t. (4) 1830%t.
177. fom WIS &H qe3T gwmar wts o fire gastT
& feest fonrer fapur-
() HIaUH 2 =W 3T amyr
(3) a&9H 4) HIEs
178. 393 ¥ HIIAIT N S9% I3 fafonr feg
fagaT ufast ‘Aee 99t T33® wr arom wfewr
(1) AfEwresT g §fom g fegu irdss
(2 IBe wae fedu o
(3)  HISWT gt € faeaTet
(4) WS FfimE & Ieg T
179. 31 A&<dt 1930 &. & Harawr gttt & Sferae Bram
fesfes & Usafou o ........ padt b U aitabur |
1 10 @ 11
3 12 (4 13
180. IHEILE ISAF T faU=T A95 Gy § 1914
gt. few 39t &= & fapr-

(1) THegRe. (2 fedwzew
(3) HMTHIE (4) JTEYm
181. HHt greEnaT Yl anet aF Te fiE nret-
() 16 3293 1920
(2 14 TFET 1920
(3) 18 3="d 1920
(4 29 THET 1920

182. wn’rmmwafaﬁrmw At A,
(ICS) €t yifwr yrw Ftat-
(1) 1919%t. ?)
3) 1921%t 4)

1920 .
1922 &t



183.The constitution of India was enforced on :
(1) 26 January 1949
(2) 26 January 1950
(3) 20 January 1948
(4) 28 January 1950
184. Which chapter includes the fundamental rights of the
citizens?
(1) Chapter 3 (2) Chapter 4
(3) Chapter 5 (4) Chapter 6
185.Total fundamental duties includes into the constitution
are :
(1 10 )11
3) 12 413
186. What is minimum age to become the president of
India:
(1) 25 years (2) 30 years
(3) 35 years (4) 40 years
187. How many members President can nominate in the
council of states ? .
1) 8 2)12
3 2 4) 10
188.How much delay the council of states can cause in
the passing of money bill:
(1) 14 days (2) 20 days
(3) 25days (4) 30 days
189. The judges of the supreme court retire after completing
the age of: '
(1) 60 years (2) 62 years
(3) 65 years (4) 70 years
190. Who administers the oath of office and secrecy to
the members of union council of ministers:
(1) President
| (2) Vice president
(3) Chief justice of the supreme court
(4) Prime minister
191. How many members are these in Punjab legislature
assembly?
(1 117 2)119
3) 120 4)122
192.The electoral college for the election of the vice
president includes: ’
(1) Lok Sabha
(2) Rajya Sabha ‘
(3) State legislative assembly
(4) Lok sabha and Rajya Sabha

29

183.

184.

185.

186.

187.

188.

189.

190.

191.

192.

793 w fifeas a< &g ST fapar?

(1) 26 A& 1949

(2) 26 AG=IT 1950

(3) 20 A<l 1948

(4) 28 AT 1950

srafaat & niwa nfgars ffears € fan rfowre
feg s 957

(1)  wifowe 3 (2 mfoe 4

(3) fouE s (4) fodae 6

Hfears f&w o Wea gadet o farest fast
J?

1 10 2 1

3) 12 4 13

Ut € mige Bet Wie uie faat €y gtet
I

1) 257% 2 30F%

(3) 357% (4) 40WH
THeIUSt I AT feU fas WEg sTHAT 9
AaeT 37 ‘

1 8 2 12

3) 2 4 10

JngT, U fi% & ym 3 &= f43 v &t &4t
yr Aaer J1

1) 14fes 2 20fes

3) 25fes 4 30fes
Audaee € #A st @we few feefes ge
I5?

(1) 60 7% (2) 62W®
(3) 65°% (4 70 A®
fuit fr3dt ufore @ HEet § wige w3 AadTdt
3v qU3 §¥ 7= < AT d< gaeer 97
(1)  dTHeIUSt

2 Quamesust

(3) HUdH d9C T HY HA

@)  yus S

immy & fears maT @ 4% fad Heg 357
1 117 2 119

(3) 120 4 122

Qu AUt @ = wet faufas S s few
A 3

(1) STAE
(2) o= feus AgT=t
(3) THHST
(4) BT AIT I IA AT



193. Which type oHiwegiefits Paseed BT thEVolame af!

profitandincome?  ¢:e: feymm on (i
(1) Antonomous Investirht 557 2¢ (0

(2) Induced Investment©: {5557 0L (4:
(3) Net Investment 022:
Sy M Eimvestieal THNe BRI St
194. Rahul installed computerized maﬂfﬁb;’i%ﬁ'ﬁctm ¥
Somé wEkerssof hig fictory becsetiempleyed due

to hairi@ﬁiﬁmowledge of corpHE which type of
TemcpREmMent Bl sS 1 TR 75 oost] 231

(‘
TEER 88 {#)

[y

(1) Seasonal unemployment 5
(2) Disguisédunemployment G (1
(3) Volunteériunemployment <r (5

195. In which state of the India has maximum pdptlation
under p@Ritgtine? ()
(1) Bima= ”*5 X2)

196. Which Co-operative Society sells il ﬁmcts in
Gujarat? 20 (0 8
(1) Amul =5 1¥2) Verka = i
“ (—3):“""M’6thé’r"Dairy “(4y Sadha —

197. Name the Indian who won the Nobel Prize in
Economics.
(1) Dr. Rajindra Prasad
(2) Rabindranath Tagore
(3) Mother Teresa
(4) Dr. Amartiya Sen.
198. In India which means of transport is considered more
cheaper and better?
(1) Water transport
(2) Airtransport
(3) Railway transport
(4) Road transport
199. What are called those industries which produce that
goods that are used for the production of other goods?
(1) Capital goods industries
(2) Inter mediate goods industries
(3) Basic industries
(4) Consumer goods industries
200. Find growth rate in India, if per capita in 1996 is
Rs.8000/- and in 1997 is Rs10,000 in India.
(1) +80% ) +20%
3) -20% “4 +25%
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193. wﬁ;&nﬁw&emﬁﬁaﬁimyﬁam;
MHES € W3er 3 faggaa@en il ol (1)

() mRIs3fadm oy
(2 ufes fa=m CLOT et e s

(3) wvufsswm 02€1 vinunsl 20 (5
S o (Y i LT BRI o1l 2obisl - 1sigsdn Aoid 7 b
194. mx»nua‘taaza’rfavarﬁ@mm

SareEbi g QI ET Saedt € I8 vge dfuled

& wrEamel st g ST (T I T |
roiieifea fomfame o Bamarad 3o bt ot 221

§)) Wit Sgwardt ot

(2 sut Iet Ggwerst CGE

(3) fega ggwerdt: S EES

o inddyor; SASITHTHTREE
195. meﬁﬁmhvna?wm:;m

Jratet JuT I IJHR 07 (C)

() 8T oreov 00 (2)  Temmy 2o (1)
o} i3 ric DB 1119512014 1 @)ool T
196. fagst nfoarat fmEr graeg:fw & aswy

T T? (0 2 o1y

(1 s 0 Q) F@Ear o

(3)  HET 3wEt 4 HU
197. faw 393t § »ew 3T fev 595 ygAa

fufemr T2

(1) 3. Ifies yae

(2 dfheIEH e

(3) HEd XA

4) 3. opEfanr AE
198. 793 feu fagsr wawrag Ty 95 ®et Anar

W3 TubAr Hifenr e §1

1) A% wewg

2 = wIwg

3) I TwITI

T (4 AZEt Iwg
199. €I5" TAH" T Q3uEs FEs TF Qedar § ot
forgr Ater 3, fagst &9 Uer sight midht sAgmt

BT YGET 99 I € G3ues g dlgr Aier ¥

() UFtes TAg Gedar

(2) VYu=qait SHg Qudar

(3) Yes Qe

4) QusasT Tng Qudar
200. nmhaus’rfe»ﬁérmmw%f%asoooa

M3 1997 f€¥ 10,000 7. I& I feareg uzT aF |

QD  +80% (2  +20%

3) -20% 4) +25%

asrnndrg 2 isdVWoon

wiagy 20 (D
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